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	2017 November New 200-105 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 200-105 Questions:

1.|2017 New 200-105 Exam Dumps (PDF & VCE) 497Q&As Download:https://www.braindump2go.com/200-105.html2.|2017 New

200-105 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNeGdLM0gta2VVYm8?usp=sharingQUESTION 228Which protocol

provides a method of sharing VLAN configuration information between switches?A.    VTPB.    STPC.    ISLD.    802.1QE.   

VLSMAnswer: AExplanation:Understanding VLAN Trunk Protocol (VTP)

http://www.cisco.com/en/US/tech/tk389/tk689/technologies_tech_note09186a0080094c52.shtmlIntroductionVLAN Trunk Protocol

(VTP) reduces administration in a switched network. When you configure a new VLAN on one VTP server, the VLAN is distributed

through all switches in the domain. This reduces the need to configure the same VLAN everywhere. VTP is a Cisco-proprietary

protocol that is available on most of the Cisco Catalyst series products.QUESTION 229Refer to the exhibit. To what does the 128

refer in the router output O 168.12.240/30 [110/128] via 192.168.12.233,00:35:36, Serial 0?A.    OSPF costB.    OSPF priorityC.   

OSPF hop countD.    OSPF ID numberE.    OSPF administrative distanceAnswer: AQUESTION 230Assuming the default switch

configuration, which VLAN range can be added, modified, and removed on a Cisco switch?A.    1 through 1001B.    2 through 1001

C.    1 through 1002D.    2 through 1005Answer: BQUESTION 231The ROUTE company has a small network. The network

consists of one switch and one router. The switch has been configured with two VLANs. The router has been configured as a

router-on- a-stick to allow inter-VLAN routing. A trunk is configured to connect the switch to the router. Whatis the minimum

number of router subinterfaces that are required for all the VLANs to communicate?A.    zeroB.    oneC.    twoD.    threeAnswer:

CQUESTION 232Identify the four valid IPv6 addresses. (Choose four.)A.    ::B.    ::192:168:0:1C.    2000::D.   

2001:3452:4952:2837::E.    2002:c0a8:101::42F.    2003:dead:beef:4dad:23:46:bb:101Answer: ABEFQUESTION 233A network

administrator receives an error message while trying to configure the Ethernet interface of a router with IP address 10.24.24.24/29.

Which statement explains the reason for this issue?A.    VLSM-capable routing protocols must be enabled first on the router.B.   

This address is a network address.C.    This address is a broadcast address.D.    The Ethernet interface is faulty.Answer:

BQUESTION 234You are working in a data center environment and are assigned the address range 10.188.31.0/23. You are asked

to develop an IP addressing plan to allow the maximum number of subnets with as many as 30 hosts each. Which IP address range

meets these requirements?A.    10.188.31.0/26B.    10.188.31.0/25C.    10.188.31.0/28D.    10.188.31.0/27E.   

10.188.31.0/29Answer: DQUESTION 235Which IPv6 address is valid?A.    2001:0db8:0000:130F:0000:0000:08GC:140BB.   

2001:0db8:0:130H::87C:140BC.    2031::130F::9C0:876A:130BD.    2031:0:130F::9C0:876A:130BAnswer: DQUESTION 236

Which protocol should be used to establish a secure terminal connection to a remote network device?A.    ARPB.    SSHC.    Telnet

D.    WEPE.    SNMPv1F.    SNMPv2Answer: BQUESTION 237What three pieces of information can be used in an extended access

list to filter traffic? (Choose three.)A.    protocolB.    VLAN numberC.    TCP or UDP port numbersD.    source switch port number

E.    source IP address and destination IP addressF.    source MAC address and destination MAC addressAnswer: ACEQUESTION

238Refer to the topology and partial router configurations shown in the exhibit. The network is fully operational and all routing

tables are converged. Which route will appear in the output of the show ip route command issued on the Branch router?A.    S*

0.0.0.0/0 [1/0] via 192.168.10.82B.    R 172.16.11.4/30 [120/1] via 192.168.10.82, 00:00:22, Serial0/0C.    R 192.168.10.80/30

[120/0] via 192.168.10.81, 00:00:22, Serial0/0D.    R 192.168.11.0/24 [120/1] via 192.168.10.81, 00:00:22, Serial0/0E.    C

192.168.12.0/24 is directly connected, FastEthernet0/0Answer: A!!!RECOMMEND!!!1.|2017 New 200-105 Exam Dumps (PDF &

VCE) 497Q&As Download:https://www.braindump2go.com/200-105.html2.|2017 New 200-105 Study Guide Video; YouTube

Video: YouTube.com/watch?v=cZLc8uMYA0Q
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